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Question 1.Select the related word/letters/numbers from the given alternatives:
3 913 fashedl 7 & Fafrerd ey 3aRl/aEdr H 9Tl
Summer : Aestivation :: Winter : ?

s : aAfafSpaar:: fa: ?
Options:

1) Cache

[T HUSR

2) Hibernation

Mafafsmaar

3) Survival

3cdlehaet

4) Activation

afsrgor

Correct Answer: Hibernation

Mafafesmaar

Candidate Answer: Hibernation

Mot fSwaar

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 Iy feneal & @ Ferfetre Qrec)/ 316Ri/EEaT T giav|

BFJ: NRV :: DHL :?

Options:
1) PTA

2) PTX
3) KQS

4) MQV
Correct Answer: PTX
Candidate Answer: PTX

Question 3.Select the related word/letters/numbers from the given alternatives:
& 9 Tashedl 7 & Fafoer ereey) 31aRi/HEdT 1 gfT|

5:30::7

Options:

1) 54

2) 50

3) 49

4) 56
Correct Answer: 56
Candidate Answer: 56
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

TFATErT weaT & foT 10 fehed! & § fawH eeg AT |
Options:

1) Throat

HUS

2) Eye

Ky

3) Ear

el

4) Skin

A/ TH

Correct Answer: Throat
hUS

Candidate Answer: Throat
Eave)

Question 5.

For the following questions

Find the odd letters from the given alternatives.

TrAaTe weat 7 QU a1v faenedl 7 & faws 3Rt 1 giaw |

Options:
1) ABBC

2) PQQR
3) WYYz

4) KLLM
Correct Answer: WYYZ
Candidate Answer: WYYZ

Question 6.

For the following questions

Find the odd number from the given alternatives.

FATErT wea & foT 1w fqenedl & § fawe dear il giav |

Options:
1) 16

2) 4
3)2

4) 36
Correct Answer: 2
Candidate Answer: 2
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Question 7.Which word comes first in the dictionary?

T T 2Tec; TSN ASEHIRT H Tgar ITAT & ?

Options:
1) Carrom

2) Cramming
3) Carrier

4) Cartoon
Correct Answer: Carrier
Candidate Answer: Carrier

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series._
et gea # Ueh aregshat feam &, oY Ueh ug ofcd &1 fow a1v frehodd & & T feho gferw it 3fegshal st O Y|
TQNKHEBYVSP22?

Options:

1) NKG

2) NKI

3) MIG

4) MJH
Correct Answer: MIG
Candidate Answer: MJG

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

TrATATRe Tea & eh 31eTsha T &, Foreet veh v oedt 1 U 910 fashed] & & GeY fashod AT St 31eTshet o1 O |

9,21,45,93,2,381
Options:

1) 189

2) 198

3) 188

4) 112
Correct Answer: 189
Candidate Answer: 189

Question 10.Pointing towards a girl, Rajan said, she is the daughter of my mother's daughter. Then how is the girl related to Rajan?

TSTeT o Ueh of5hT ShT 371 SRURT ek ohel, " Ig A A7 1 I 1 TN & | TATST 3H 5 ol Tolel § 7 Haitr § ?
Options:

1) Daughter

ERU

2) Niece

ERIcUE I

3) Nephew

HAST/ AT

4) Uncle

T/ T/ HTAT/ FT/ FHT
Correct Answer: Niece
I

Candidate Answer: Niece
ST/ TSI

Question 11.M is brother of N. B is brother of N. M is brother of D. But N is not brother of D. How is N related to D?

M N &7 88 &, 31 B,N &7 1 ¥1 S8 TR M, D 7 875 &, g N, D &7 3718 78T €1 N &7 D & HeieT 9eise ?
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Options:
1) Nephew
ST/ AT
2) Cousin
R/ FAR) T/ FGRT 3
3) Sister
Ero
4) Brother
oS
Correct Answer: Sister
ErRo
Candidate Answer: Cousin

TRRI/FERT) GRT/ARRT 3

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

ArAfaRad faehedl 7 & dg Wse; AT it feT 1T 2Uee; o IGRT T TIWT Fleh 76T ST SIT Fehel -
COMMENTATOR

Options:
1) MART

2) COMMON
3) MOMENT

4) CONTRACT
Correct Answer: CONTRACT
Candidate Answer: CONTRACT

Question 13.If MOMENTUM is coded as EMOMNTUM , then MAGNETIC will be coded as?

Ife MOMENTUM & fordlt g 3 EMOMNTUM forar Sirar §, at garsT fas MAGNETIC &Y 38T s & o forar smeem & ?
Options:

1) NGMAEITC

2) NGAMECTI

3) NGAMETIC

4) NGMAETIC
Correct Answer: NGAMETIC
Candidate Answer: NGAMETIC

Question 14.If 'L' stands for '+', 'M' stands for '-' , N stands for 'x' , P stands for '+' then
I LA AT '+' &, M AT AT ' - ' §TUTN FI AT X &, IR PH Adelg ' + ' &, A

14N10L42P2M8 =7
Options:

1) 153

2) 216

3) 248

4) 251
Correct Answer: 153
Candidate Answer: 153

Question 15.If 13*%45 = 29,
24*58 =41,

74*32 =53,

what should 97*47 be?

gfe 13 * 45 = 29,

24 * 58 =41,

74 %32 =53¢

Y 97 * 47 T AT F4T gAT ?
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Options:
1)73

2) 72
3)63

4) 64
Correct Answer: 72
Candidate Answer: [ NOT ANSWERED ]

Question 16.Find the missing numbers from the given alternatives

Rw 1w fashed] # & oo dear gfaw ?

2 4 0
1 2 4
1
?

3
36

Options:
1) 73

L

2) 68
3) 101

4) 55
Correct Answer: 73
Candidate Answer: [ NOT ANSWERED ]

Question 17.If South-East is changed to North and North-East to West and so on, then what will come in place of South?

I SFEIoT - 98 I 3ea) & gRafa o eam s, 3R Seav-gd i aftes 7 30 58 9o 3mr 3N o R S & gf&ioT & T o) R Sreer ?
Options:

1) South-West

afarr - gfas

2) North-East

S - 9

3) South-East

aferor -

4) North-West

3eei - afeH

Correct Answer: North-East
s - g

Candidate Answer: North-West
3c} - 9iaH

Question 18.0ne or two statements are given followed by two conclusions/assumptions, I and II. You have to consider the statement to be true, even if it seems to be
at variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement. Indicate
your answer.

Statements: 1. All mangoes are golden in colour. 2. No golden coloured things are cheap.

Conclusions: I. All mangoes are cheap. II. Golden-coloured mangoes are not cheap.

AFATATET T2 # e aaFdcy AT 31T § Toreh 31T g fersehd/Aegany, 1 31 I fehrel 13 §| 319! faaR e & foF aoFded acd §, 918 98 Aead: Ad a2ai 8
et Tiat &Y gl 3IeR! fAvT aXerT § T fou 913 gerdeyr & @ la-ar fARad 39 & TEY fses/AardT fAshrelr ST Terdll §1 379e) 3ca &t fafése Hfse |

e : 1. T AT AT 37 GAGY 1 2. Goex 7 B ahrs o g Tl 78§

s : 1. Wl 3 wEt €1 2. GEN T o 3T HE AT B
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Options:

1) Only conclusion I follows

Fad fasey [ TEr g

2) Only conclusion II follows

o fasey 11 T &

3) Either conclusion I or conclusion II follows
7T faseny 1 a7 sy 11 adr §

4) Both conclusions I and II follow

At sy agr e

Correct Answer: Only conclusion II follows

Fao sy 1 T8 g
Candidate Answer: [ NOT ANSWERED ]

Question 19.How many triangles are there in the given figure?

& 778 e # e BT €2

Options:
1) 14

2) 15
3) 16

4) 18
Correct Answer: 16
Candidate Answer: 14

Question 20.In the given figure, triangle represents the healthy, square represents the old, and circle represents the men. Find out the area of the figure which
represents the "men who are healthy but not old".

v & 318 3mepfar #F Fentor Tawr cafead # a=ffar §, 797 g caferadl 1 aifar 8, 3R goa el & gffar §1 39 3l &7 siaha A AT St "I ges # =i g S
T drg g gg e "2

Options:
1H1

2)2
3)3

4)7
Correct Answer: 2
Candidate Answer: 2
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Question 21.Which answer figure will complete the pattern in the question figure?

it AN Seal TPt T JTpicT & Fred T @ hafr?

1

Options:
1)
2)
o
3)
D
i |
4)

Correct Answer:

JL

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccf09bb87 7131
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Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 378 Sea¥ I 7 & 39 Iea¥ Il F gAT o wee Il PRa § 2

Options:
1)

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccf09bb87 8/31
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Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I FmaTer &, A geeT Tt F G R AR AR Fler S d We TX a8 38 3eav 3Efa sk s gam ?

e

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccf09bb87 9/31
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Options:

Correct Answer:

Candidate Answer:

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccf09bb87 10/31
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T UOT T MN JET TR @1 SR oY & 1§ SecX 3Thferal 7 & it A 3eplcl T2t 3mepfar b1 TeT wfcifass gia ?

[E:

Options:
1)

Correct Answer:

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccf09bb87 11/31
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Candidate Answer:

Question 25.1In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix IT are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., A can be represented by 02,14, etc.,

and 'P' can be represented by 56, 68, etc. Similarly you have to identify the set for the word 'BEAT'

T 205G ol U HEIT-HE GaNT G a7 &, S o fasredt & & fordl weh 3 o arar €1 farepedt  faw 1w e ogg 31aRT & ar a9if qanr arife arw §, o fop i fiow
31T 2 3TeggT A §1 ey 1 3 Fiet 3T fercly & Tear 0 & 4 3R 3megg 11 67 5 7 9 & 715 B 7 Mgl  Ueh &R Y Tgol 38! Garel 3R T18 7 FAo97 H&am Sary gefiam
ST Fehell 1 JeTeX0T & ToIw A’ &Y 02, 14 31T ST eRAAT ST Hhell & T 'P ' Y 56, 68 IHTTe; S@RT GRITAT ST HehelT | ST e & 3T 4T gT 2fee; 'BEAT' & foiw @weg A1

g
MATRIX | MATRIX |l
0 1 2 3 4 5/b|72|8 |5
O B HA R T|/5/S P E A K
1 R T B H A 6 A K S P E
2 HAR T B 7 P E|A K|S
3 T B H A R 8 K S P E A
4 A R T B H 9 EIA|K|S|P
Options:

1)40,88,65, 30
2)00,76,33,23
3)31,88,34,23

4)24,57,58,41
Correct Answer: 00, 76, 33, 23
Candidate Answer: 00, 76, 33, 23

Question 26.The innovation theory of profit was proposed by

ST &I ATTa Bgia foraer ufaaifea famar o ?
Options:

1) Marshall

AT

2) Clark

Follch

3) Schumpeter

YAdIE

4) Joan Robbinson

e At

Correct Answer: Schumpeter

AN

Candidate Answer: [ NOT ANSWERED ]

Question 27.The most abundant element in the earth's atmosphere is

gt & FTATART F FIY AT TR ST dTell Fed Hlet-7T &2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccfO9bb87
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Options:
1) Argon
Kliic)
2) Nitrogen
BlECED)
3) Oxygen
KlEnco)
4) Krypton
foRcesT
Correct Answer: Nitrogen
QIEHED)

Candidate Answer: Nitrogen

ATSEISTeT

Question 28.Who was the first Indian to be elected as a Member of the British House of Commons?

FE TUH HRAT FleT & S TR 8139 3 Hiofed & Herd I 1w ?
Options:

1) Jayaprakash Narayan

ST YehTRT ARIOT

2) Dada Bhai Naoroji

e AN

3) Ram Manohar Lohia

T FAG elifgm

4) Sarojini Naidu

S A

Correct Answer: Dada Bhai Naoroji
SIETHTS AR

Candidate Answer: [ NOT ANSWERED ]

Question 29.Mohammed Bin Tuglaq transferred his capital from

AIGFAG FoIeT JaTeieh o 37l ToTeell gl & gl daon o ?
Options:

1) Delhi to Warangal
ool & IRt

2) Delhi to Devagiri

ee & qafady

3) Delhi to Madurai

R & 7Y

4) Delhi to Vijayanagar
ool ¥ fas=aR

Correct Answer: Delhi to Devagiri

et & afadr

Candidate Answer: Delhi to Devagiri

feeel & Safandr

Question 30.During the reign of which dynasty was the Great Wall of China constructed?

mmara;ammﬁahaﬁataﬁaaﬁrﬁmgmm?

Options:
1) Sung

wgwo
N/ N
T —
@ o

=]
> @

Sl

Correct Answer: Chin

g

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccf09bb87 13/31
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Question 31.Winds blowing constantly in one direction in rocky deserts form

T YAEATAT H Teh 1R & TRMAR Telet aTell §aTU AT S=IIcT § ?
Options:

1) Chimneys

(o

2) Mushrooms rocks

FRIWH el

3) Yardangs

IREHT

4) Demoiselles

hTehT

Correct Answer: Yardangs
IRET

Candidate Answer: [ NOT ANSWERED ]

Question 32.Sphygmomanometer measures the blood pressure in the

TATSIAAAIACT T 317 et 7 & fhaet o gi9 ST AT g ?
Options:

1) Veins

(R

2) Arteries

eAfTAT

3) Eyes

Elira))

4) Synovial

2NH

Correct Answer: Arteries

AT

Candidate Answer: [ NOT ANSWERED ]

Question 33.The reverse effect of X-ray emission is

X-FRott 3 3cqsiet T Sfdeer Tea FaT § ?
Options:

1) Raman effect

IHA AT

2) Compton effect

FIFEIesT T

3) Zeeman effect

ST ToTTa

4) Photo-electric effect

TRTRI-AY T G

Correct Answer: Photo-electric effect
TRIT-SE T

Candidate Answer: [ NOT ANSWERED ]

Question 34.WIMAX stands for

WIMAX T &7 31fRgmT & ?

Options:
1) Wireless Interoperability for Microwave Access

2) Wired Interoperability for Microwave Access
3) Worldwide Interoperability for Microwave Access

4) Worldwide Infrastructure for Microwave Access
Correct Answer: Worldwide Interoperability for Microwave Access
Candidate Answer: [ NOT ANSWERED ]

Question 35.India is developing Chabahar Port in which of the following countries?

AR 5T F & 5 U # IIT8R Soe9g ST @/ ¢ ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccfO9bb87
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Options:
1) Iraq
ERiEd
2) Oman
AT
3) Iran
o}
4) Afghanistan
RIMTTEATT

Correct Answer: Iran

S

Candidate Answer: [ NOT ANSWERED ]

Question 36.Dipa Karmakar is the first Indian woman to have qualified for Rio Olympic Games in which sport?

R 3Tl 7 ST AR AR HT 3R F ohg Wl 7 Tgell IR A7 foram?
Options:

1) Archery

GRS

2) Boxing

SfrgaT

3) Badminton

CEECC)

4) Gymnastics

[Eolrscs:]

Correct Answer: Gymnastics

AT

Candidate Answer: Gymnastics

ISEGIEsCE ]

Question 37.What is the name of the deadly volcano in Indonesia that erupted again in May 2016?

SUSIATRIAT & 39 FARIRY SATcE! &7 &7 o719 § ford 7 75 2016 ﬁﬁwﬁﬁﬁtg&n?
Options:

1) Mount Singabung

AT AT

2) Mount Merapi

AT3E FRTIY

3) Mount Rinjani

A3e Raf=ir

4) Mount Agung

HT3T TaeT

Correct Answer: Mount Singabung

Fse g

Candidate Answer: [ NOT ANSWERED ]

Question 38.The world's largest and deepest rail tunnel Gotthard Base Tunnel is located in which country?

Forea iy ey ey 3R TRy ey Y T TS S T oy er v €7
Options:

1) Belgium

sfeeaa

2) Austria

3iifegar

3) Switzerland

Rgesrels

4) Sweden

iz

Correct Answer: Switzerland
RaesRols
Candidate Answer: [ NOT ANSWERED ]

Question 39.SIDO is related to the development of

SIDO & He¢T fohdeh @ q g ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD Q=&appid=1a4fff78943b24af40c79deccf09bb87 15/31
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Options:

1) Small industries

g ST

2) Steel Industry

ERIGECRIC

3) Soap Industry

A JeT

4) Sugar Industry

Bloikeuin

Correct Answer: Small industries
g ezt

Candidate Answer: [ NOT ANSWERED ]

Question 40.The Wheeler Island has been renamed as

SEIeR EaTT T 71T ATH FAT § ?
Options:

1) Vikram Sarabhai island
[EETR: NE KGN

2) Satish Dhawan island
Hrer eraet ey

3) Abdul Kalam island

gl FHellH edid

4) C.V. Raman island
LICIRE RGN

Correct Answer: Abdul Kalam island
3egel FelH edid

Candidate Answer: [ NOT ANSWERED ]

Question 41.Which is the biggest building at Mohenjodaro?

FigeToiieg! & To T8 SARA FA-A & ?
Options:

1) Great Bath

Ik i)

2) Great Granary

I Il

3) Assembly Hall

TRl Eler

4) Rectangular Building

3TIATPR AT

Correct Answer: Great Granary

prxiciy

Candidate Answer: Great Granary

I P8

Question 42.0ne of the common forms of representing remote sensing data as information is in the form of

AT & & H gT-HAE) 31T &RMel 1 Tk A e forgy &7 H 2
Options:

1) Thematic Maps

v AT

2) Political maps

TAfad AT

3) Distribution maps

LR IGIGES

4) Land use maps

§- 39T AATIT

Correct Answer: Thematic Maps

e AT
Candidate Answer: [ NOT ANSWERED ]

Question 43.Bhakra Nangal Project is constructed across which river?

HIGST Aol IRASTAT hled-A T T & ?

Staff Selection Commision
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Options:
1) Ganga
I
2) Sutlej
adelst
3) Cauvery
FHTadr
4) Brahmaputra
SEAIT

9
Correct Answer: Sutlej
Hclelol

9
Candidate Answer: Sutlej
Hdelal

9
Question 44.The group of solar cells joined together in a definite pattern is called a

AR Aell 3 o Togg vk ARad deet 7 v arr s @ st & 38 = wed € 2
Options:

1) Battery

F

2) Solar Heater

B EdGIRED

3) Solar cooker

Al g

4) Solar cell panel

&R o1 Yo7l

Correct Answer: Solar cell panel

dik e de7el

Candidate Answer: Solar cell panel

Rk a1 Y7l

Question 45.Chemical composition of cement is

BAee I IS AT FT§ ?
Options:

1) Limestone and Clay

AT IR R A

2) Limestone, Clay and Gypsum
AT e, TR 3R foreas

3) Limestone and Gypsum

AT e 3R ForewH

4) Clay and Gypsum

g 3R oreas

Correct Answer: Limestone, Clay and Gypsum
AT g2, fAd 3R foews
Candidate Answer: [ NOT ANSWERED ]

Question 46.A stretch of sea water, partly or fully separated by a narrow strip from the main sea is called

AET GHG W FhIoT TEY AR 3T T F AT I g 3T R 70 FoHEY SToT & FIEdR ot o gt & 2
Options:

1) Bay

pelEl

2) Isthmus

ECE:EIcED

3) Lagoon

¥

4) Strait

STISHTHET

Correct Answer: Lagoon

oo

LN

Candidate Answer: [ NOT ANSWERED ]
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Question 47.The sigmoid colon is a part of

TR Fiele fohaehr ET & ?

Options:

1) Small Intestine
B 37

2) Large Intestine
3 37

3) Pharynx

THAT

4) Rectum
HelRIT

Correct Answer: Large Intestine
EEKIIGH
Candidate Answer: [ NOT ANSWERED ]

Question 48.Beginning from the Financial Year 2017-18 NITI Ayog plans to replace the 5 year plans with which of the following

e 3mar & faecha af 2017-18 ¥ YETT A 5 aF H D13 B AT # F Fred seo= i A s § 2

Options:

1) 5 year Vision Document
5 et fasiet stargdiee

2) 10 year Vision Document
10 &1 farstet stergiee

3) 15 year Vision Document
15 ref foret Strgdee

4) 20 year Vision Document
20 ATel ATt Shergie

Correct Answer: 15 year Vision Document

15 et feret strgdee
Candidate Answer: [ NOT ANSWERED ]

Question 49.The connective tissue that connects a muscle to a bone is

A9 T g3 U AISeT dTel Secdeh T FIT Fhgd § ?
Options:

1) Cartilage

SUTRe/ AT

2) Ligament

AT

3) Tendon

[r)

4) Interstitial fluid
Heaurl g

Correct Answer: Tendon
[t

Candidate Answer: [ NOT ANSWERED ]

Question 50.Indian Citizenship is granted by

SR ARTRAAT e G@RT & ST § ?
Options:

1) The President of India

HRA & Tegufa gant

2) The Prime Minister

T Aol SaRT

3) The Ministry of Home Affairs

3¢ FHATCRT ZaRT

4) The Ministry of External Affairs
[ECREE CREGIn

Correct Answer: The Ministry of Home Affairs
3§ HATRI eaRT

Candidate Answer: [ NOT ANSWERED ]

Staff Selection Commision
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Question 51.0ne tap can fill a water tank in 50 mins and another tap can make the filled tank empty in 75 mins. If both the taps are open together, already half filled
tank would be full in

Tk aTel TeRell oTefY & e Y 50 fAeTe &1 8 Tl § 3R g@T o1e 8 §U &6 Y 75 TATe & Trell X Thll §1 AT el w7t Ueh A1 Tet fU ST T 1/2 87197 8127 g3 &
foheTel TA 3 QI S Sfrean ?
Options:

1) 60 min

60 BeTe

2) 75 min

75 f&eTe

3) 125 min

125 fAsTe

4) 150 min

150 fAere

Correct Answer: 75 min
75 f&eTe

Candidate Answer: 75 min
75 AT

Question 52.Three solid spheres have their radii ry, r; and r3. The spheres are melted to form a solid sphere of bigger radius. Then the radius of the new sphere is

AT SR et ST ST FHA: rq, 1o 3R r3 §1 3T el T S31 AT ATl Tk S Il STl o TolT ITSATAT ST & | S 7T 3MTel I BHsar & grefi?

Options:
1)
(ri+rz+73)

2)

(rd+r?+rd)?

3)
{1"13 + 1"23 + 7'33)]!3

4)

(ro*+rt+ %3
Correct Answer:

{1"13 + 1"23 + 7'33)12’}3

Candidate Answer:
{1"13 + 1"23 + 7'33)12’}3

Question 53.The shopkeepers announce the same price of Rs. 700 for a sewing machine. The first offers successive discounts of 30% and 6% while the second
offers successive discounts of 20% and 16%. The difference in their selling price is

2 gFTTER FaeTS FeT T Ueh Wt H1dRs. 700 BRI e § | T6T GHRIER 30% X 6% 1 & hiateh B ST § STt gaT 20% X 16 % #T FHfw ge &aT &1 3735
T o 3 forcetr T § ?

Options:
1) Rs. 9.8

2) Rs. 16.8
3)Rs. 22.4

4) Rs. 36.4
Correct Answer: Rs. 9.8
Candidate Answer: Rs. 9.8

Question 54.The amount of extension in a spring is proportional to the weight hung on it. If the weight of 5 kgs produces an extension of 0.4 cm, what weight would
produce an extension of 5cm?

T AR & TAEIR R HET 37 0 e die & 3 & g1 A7 5 Fh.am. &1 sfc FaAm 7 0.4 9.2, 1 RAedR amar & ar 5 4.8, &1 e = & fdr fraey gt & sffe
e
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Options:
1) 6.25kgs
6.25 fom.amm.
2) 62.5kgs
62.5 fon.am.
3) 4kgs
4 fp.am.
4) 40kgs
40 fo.7m.
Correct Answer: 62.5kgs
62.5 foh.am.

Candidate Answer: 62.5kgs
62.5 fop.am.

Question 55.12 copies of a book were sold for Rs. 1800 thereby gaining cost price of 3 copies. The cost price of a copy of the book is

foralr Teh i 12 9Tt HiRs. 1800 F0 F Idt & 3 TfTAT o W Hed & SRR AT EHT | Teefoh T Teh e T AT e vl & ?
Options:

1) Rs. 120

2) Rs. 150

3) Rs. 1200

4) Rs. 1500
Correct Answer: Rs. 120
Candidate Answer: Rs. 120

Question 56.In a marriage party 32% are women, 54% are men and there are 196 children. How many men are there in the marriage party?

T faaTe FARIE 7 32% AR €, 54% T2 § 3R 196 = §1 39 fame #@ARE 7 92V fde § ?
Options:

1) 756

2) 448

3) 332

4) 324
Correct Answer: 756
Candidate Answer: 756

Question 57.A train is running at a speed of 116 kms/hr. The distance covered by the train in meters in 18 secs is

T &o1 116 FR0#N0/eer i arfer & =ror WY &1 18 VehUs 7 ¢of @ fohctat #ex hr gt ar &y smeefy 2
Options:

1) 900m

900 Hrex

2) 1160m

1160 #ex

3) 508m

508 #AeX

4) 580m

580 #HeX

Correct Answer: 580m

580 HieX

Candidate Answer: 580m

580 #HieX

Question 58.If a+b = 5, then the value of (a-3)” + (b-2)" is

Fira+b=5aaV(a-3) + (b-2) & AT FATEEN?
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Options:
1) 27

2)37
3)1

4)0
Correct Answer: 0
Candidate Answer: 0

Question 59.

: 1
Ifx% — 2x + 1 = 0, then the value of x* + ris

ARG 22— 220 +1 = 0, A x* + L& HI T §?

Options:
1)0

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: 2

Question 60.The length of a median of an equilateral triangle is 12v3 cms. Then the area of the triangle is

T FHS AT & AT B oiars 123 WA B, A gt 1 Sl e § ?
Options:

1) 144 sq. cms

144 3302

2) 2883 sq. cms

288V3 A2

3) 144V3 sq. cms

144v3 3302

4) 288sq.cms

288 A.40.2

Correct Answer: 144v3 sg. cms
144v3 3302

Candidate Answer: 144V3 sq. cms
144v3 @2

Question 61.

0 is the circumcentre of a triangle AABC.
The point A and the chord BC are on the
opposite side of O. If £ZBOC=150". Then the
angle /BACis

0w TRyt aABCEH 9GS &1 g A 3R
Sirar BC fdg odr fawlia faem & &1 ofe
£BOC=150", 1 2BAC o=t FBarlr =1 &7

Options:
1) 65°

2) 60°
3) 70°

4) 75°
Correct Answer: 75°
Candidate Answer: 75°
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Question 62.
=

3
In an acute — angled triangle ABC if Sin(B+C—A) = % and
tan(C+ A —B)=1,thenCis equal to

Rt 7= e ferer ABCA, Afg
sin(B + € — 4) =%§3ﬂ? tan(C + 4 —

B) =1, CThereh Sra grf?

Options:
1) 37.5°

2) 67.5°
3) 52.5°

4) 72.5°
Correct Answer: 52.5°
Candidate Answer: [ NOT ANSWERED ]

Question 63.How many numbers divisible by 125 can be written by using all the digits 2,3,8,7,5 exactly once?

|3t 37t 2, 3, 8, 7, 5 T hdol Teh IR 3TN ek 125 & f3enfaa g arelr fhae deand foddh s aehdr & ?

Options:
1)4

2)5
3)6

4)7
Correct Answer: 4
Candidate Answer: 7

Question 64.The average salary of all workers in a workshop is Rs.12000. The average salary of 7 technicians is Rs.15000 and the average salary of the rest is
Rs.9000. The total number of workers in the workshop is

T FRA H T FARET 1 3T AfeTRs. 12000 §1 7 TR &7 3Gl it Rs. 15000 F1 3T AY F3ET dci=TRs. 9000 ¥l FR@T & FarenRat 1 et dear
e & ?

Options:
1) 12

2) 13
3) 14

4) 15
Correct Answer: 14
Candidate Answer: 14

Question 65.The angles of elevation of an aeroplane flying vertically above the ground, as observed from the two consecutive stones, 1 km apart; are 45° and 60°.
The height of the aeroplane from the ground is

ST Y FIX SR 35 T FAAT &1 SooT2reT 0T 7w F 1 5.3, i g ox FeereT o T Teert & 38 ey o 450 3R 600 &1 ST & farwer o S el § 2
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Options:
1)

(V3 +1)kms

(V3+1) faain.

2)
(V3+3)kms

(V3 +3) fem.at.
3)

%(\'@4‘ 1)kms

1 (V3+1) b
4)

%{\G+ 3)kms

2 (V33) Rl
Correct Answer:

%{\@+ 3)kms

2 (V3+3) Rt

Candidate Answer:

% (v3+ 1)kms
~(V3+1) .

Question 66.The maximum value of 5+20x-4x2, when x is a real number is

5 + 20X - 4x2 7 3RhadH AT 519 'X' aredtash Gear (R3rel #77) g1, ar &1 gam?

Options:
1)1

2)5
3) 25

4) 30
Correct Answer: 30
Candidate Answer: 5

Question 67.

If 33=4b=6c and a+b+c=27+20 then va% + b® + c? is equalto

I 3a=4b=6c 3T a+b+c=27y29 T
Val + b+ 2 & AT =T §7
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Options:
1) 87

2) 3v29
3) 82

4)83
Correct Answer: 87
Candidate Answer: 3v29

Question 68.If an interior of a regular polygon is 170°, then the number of sides of the polygon is

afe; e TERISTTRR SgTet T 3icT 10T 1700 & A agefet A1 o3l 1 Fear fhah § 2

Options:
1) 36

2) 20
3)18

4) 27
Correct Answer: 36
Candidate Answer: 36

Question 69.
If PA and PB are tangents to the circle

with centre O such that ZAPB=50",
Then #0AB=

afg pa 3R PB &3 0 @ ged HI
T @ 59 UK &
£APB=50°, a1 £0AB=?

Options:
1) 25°

2) 30°
3) 40°

4) 50°
Correct Answer: 25°
Candidate Answer: 25°

Question 70.Starting with 8000 workers, the company increases the number of workers by 5%, 10% and 20% at the end of first, second and third year respectively.
The number of workers in the fourth yearwas

8000 HHIRT & HIY HIH YT A Tl HIAT H Tgel , gAY R AW ¥ & 37 H FHART T HEAT HART: 5%, 10% 3 20% aer & Sl &1 =Y af 7 Ry Hr dear
fopcety ofr ?

Options:
1) 10188

2) 11088
3) 11008

4) 11808
Correct Answer: 11088
Candidate Answer: 11088

Question 71.If SinX-CosX=1, where 'X" is an acute angle, the value of SinX+CosX is

IfE SinX-CosX=1 &1 FgT X Teh w7 10T §, @Y SinX+CosX T AT T T ?
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Options:
1)0

2)1
3) 1,

4)2
Correct Answer: 1
Candidate Answer: 1

Question 72.Study the following bar graph carefully and answer the questions

Afafad I” ImF FF e T ufed 3R et & 3cak S|

mstae U, Central L.

16
A 14
=
Loz
bor: |
2 10
=%
=
s 6
=
= a4
(=]
z 2
s
1980 1990 2000
YEARS

In 1990, how many more students were enrolled at State University than at Central University?

a¥ 1990 # g FeafdedTert 1 el # T faRafdedmer & v fFegmit sarer Amsifhage a2
Options:

1) 1505 students

1505 faezmeft

2) 1650 students

1650 faezmeff

3) 2000 students

2000 Tzt

4) 1980 students

1980 faezmeff

Correct Answer: 2000 students
2000 faezmff

Candidate Answer: 2000 students
2000 faezmeft

Question 73.Study the following bar graph carefully and answer the questions

fafad IR IF Fr a1 T ufed 3R geat & 3car S|

mStaEe U, Central L.

16
A 14
=
Loz
ar
2 10
=
=
S f
=
= a4
(=]
z 2
s
. 1980 1990 2000
YEARS

Total enrolments in both State University and Central University during the year 1980, 1990 and 2000 is

¥ 1980, 1990 31k 2000 T 3R g faafdegrer et 7 el fohclel aATHihaT o 197 & ?
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Options:
1) 80000

2) 66000
3) 70000

4) 76000
Correct Answer: 70000
Candidate Answer: 70000

Question 74.Study the following bar graph carefully and answer the questions

Rrfafad I” ImF Fr e T ufed 3R geat & 3cak S|

mstae U, Central L.

16
A 14
=
Loz
=
S 1w
Z 3
=
s 6
=
(=]
z 2
s
1980 990 2000
YEARS

Ratio of the total enrolments in the year 1980 and 2000 at the State University and Central University is

a¥ 1980 AR 2000 # T TAvafdedmers 3R Fg faafaearer 7 §U Fof 1A 6l I TAgd?

Options:
1) 4:5

2) 2:3
3)6:5

4)5:6
Correct Answer: 5:6
Candidate Answer: 5:6

Question 75.Study the following bar graph carefully and answer the questions

RAfAfd I” 7% FF e T ufed 3R et & 3car QS|

W stae U, Central L.

16
A 14
=
=12
=
2 1
=%
=
-
=
o
< 2
-
1980 990 2000
YEARS

The tuition fee at State University in the year 2000 was Rs.6500/- per enrolment. What was the total revenue collected from the tuition fee at State University during
that year?

Tsafarataedrord & a§ 2000 H gl B Rs.65009fT A=t & 38 Y Ty faeafaearery & T2IeT Yoeh A Fool fohelaT a7 Sohal T 1T ?

Options:
1) Rs.80,000,000

2) Rs.78,000,000
3) Rs.65,000,000

4) Rs.56,000,000
Correct Answer: Rs.78,000,000
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Candidate Answer: Rs.78,000,000

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

OMINOUS

Options:

1) OFFICIOUS

2) PLEASANT

3) CONVENIENT

4) THREATENING

Correct Answer: THREATENING

Candidate Answer: THREATENING

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

OBSTINATE

Options:

1) DOCILE

2) AGGRAVATE

3) OFFENSIVE

4) OPPRESSIVE

Correct Answer: DOCILE

Candidate Answer: DOCILE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Benevolens

2) Benevolene

3) Benevolence

4) Benevelence

Correct Answer: Benevolence
Candidate Answer: Benevolence

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

All works of (A) / creative writing (B) / have aesthetics appeal (C) / No error (D).
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I and my wife (A) / were declared (B) / the best couple at the party (C) / No error (D).
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The author said during the press conference (A) / that there were (B) / two farther volumes to be published (C) / No error (D).
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C
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Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

A partial victory is sometimes all we can hope to
Options:

1) gain

2) lose

3) suffer

4) reward

Correct Answer: gain

Candidate Answer: [ NOT ANSWERED ]

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

My father has been advised to his smoking.
Options:

1) cut down

2) cut off

3) cut into

4) cutin

Correct Answer: cut down

Candidate Answer: cut down

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I had not expected to meet him; it was quite an meeting.
Options:

1) organised

2) unique

3) accidental

4) intentional

Correct Answer: accidental

Candidate Answer: accidental

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A dark horse

Options:

1) A wild animal

2) A black horse

3) An unknown entry

4) A front runner

Correct Answer: An unknown entry
Candidate Answer: An unknown entry

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Throw cold water

Options:

1) Encourage

2) Discourage

3) Attack

4) Drench

Correct Answer: Discourage

Candidate Answer: Discourage

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Butt in

Options:

1) Record

2) Impose

3) Improvise

4) Interrupt

Correct Answer: Interrupt

Candidate Answer: [ NOT ANSWERED ]
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Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A narrow stretch of land connecting two large bodies of land.
Options:

1) Lagoon

2) Cape

3) Strait

4) Isthumus

Correct Answer: Isthumus
Candidate Answer: Strait

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An animal which lives by preying on other animals
Options:

1) Aggressor

2) Attacker

3) Terminator

4) Predator

Correct Answer: Predator
Candidate Answer: Predator

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Government or rule by a small group of people
Options:

1) Monarchy

2) Oligarchy

3) Autocracy

4) Autonomy

Correct Answer: Oligarchy
Candidate Answer: Oligarchy

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Salman and the other actors drove through the forest.
Options:

1)in

2) over

3) among

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

You will not succeed unless you don't work hard
Options:

1) will not work hard

2) should work hard

3) work hard

4) No improvement

Correct Answer: work hard
Candidate Answer: work hard

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

My friend has a toothache and cannot eat something.
Options:

1) anything

2) things

3) edibles

4) No improvement

Correct Answer: anything
Candidate Answer: anything
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Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Africa is in the South of Europe
Options:

1) by the

2) to the

3) over the

4) No improvement

Correct Answer: to the

Candidate Answer: to the

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Either Lata or Mala have done it.
Options:

1) Neither Lata or Mala has done it
2) Either Lata or Mala has done it
3) Neither Lata or Mala have done it
4) No improvement

Correct Answer: Either Lata or Mala has done it
Candidate Answer: Either Lata or Mala has done it

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Until he was ten, young Alexander Fleming attended the nearby Loudoun Moor School. He was then transferred to Darvel School which he attended with his brothers.
Alexander learned a good deal about nature during that four mile downbhill hike to school and the four mile uphill return trip. He was a quick student and at twelve, the
age limit prescribed for Darvel school, he was sent to Kilmarmock Academy. Two years later he joined his brothers John and Robert at the home of his elder brother
Thomas, who was to become a successful occultist in London. However, the economic success of the family was yet to be and Alexander was forced to leave school
for economic reasons. When he was sixteen, he obtained a job in a shipping company. Good fortune, however, was on his side and on the side of humanity. In 1901,
he received a share in a legacy which made it possible for him to return to school. He decided to study medicine.

Alexander trekked miles every day to attend Darvel school.
Options:

1) four

2) eight

3) twelve

4) sixteen

Correct Answer: eight
Candidate Answer: eight

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Until he was ten, young Alexander Fleming attended the nearby Loudoun Moor School. He was then transferred to Darvel School which he attended with his brothers.
Alexander learned a good deal about nature during that four mile downhill hike to school and the four mile uphill return trip. He was a quick student and at twelve, the
age limit prescribed for Darvel school, he was sent to Kilmarmock Academy. Two years later he joined his brothers John and Robert at the home of his elder brother
Thomas, who was to become a successful occultist in London. However, the economic success of the family was yet to be and Alexander was forced to leave school
for economic reasons. When he was sixteen, he obtained a job in a shipping company. Good fortune, however, was on his side and on the side of humanity. In 1901,
he received a share in a legacy which made it possible for him to return to school. He decided to study medicine.

He was a 'quick student' means that Alexander
Options:

1) Reached school before his brothers

2) Was a lively student

3) Ran the races

4) Was a fast learner

Correct Answer: Was a fast learner

Candidate Answer: Was a fast learner

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Until he was ten, young Alexander Fleming attended the nearby Loudoun Moor School. He was then transferred to Darvel School which he attended with his brothers.
Alexander learned a good deal about nature during that four mile downhill hike to school and the four mile uphill return trip. He was a quick student and at twelve, the
age limit prescribed for Darvel school, he was sent to Kilmarmock Academy. Two years later he joined his brothers John and Robert at the home of his elder brother
Thomas, who was to become a successful occultist in London. However, the economic success of the family was yet to be and Alexander was forced to leave school
for economic reasons. When he was sixteen, he obtained a job in a shipping company. Good fortune, however, was on his side and on the side of humanity. In 1901,
he received a share in a legacy which made it possible for him to return to school. He decided to study medicine.

"... and at twelve, the age limit prescribed for Darvel school ... " in this context means that children were
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Options:

1) Admitted to school at the age of twelve

2) Allowed to remain in the school only up to the age of twelve
3) Admitted to the school any time after the age of twelve

4) Not admitted to the school before they were twelve

Correct Answer: Allowed to remain in the school only up to the age of twelve
Candidate Answer: Allowed to remain in the school only up to the age of twelve

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Until he was ten, young Alexander Fleming attended the nearby Loudoun Moor School. He was then transferred to Darvel School which he attended with his brothers.
Alexander learned a good deal about nature during that four mile downbhill hike to school and the four mile uphill return trip. He was a quick student and at twelve, the
age limit prescribed for Darvel school, he was sent to Kilmarmock Academy. Two years later he joined his brothers John and Robert at the home of his elder brother
Thomas, who was to become a successful occultist in London. However, the economic success of the family was yet to be and Alexander was forced to leave school
for economic reasons. When he was sixteen, he obtained a job in a shipping company. Good fortune, however, was on his side and on the side of humanity. In 1901,
he received a share in a legacy which made it possible for him to return to school. He decided to study medicine.

Alexander became well off

Options:

1) By working in a shipping company

2) When his brother became a successful occultist

3) Because he studied medicine

4) By receiving a share in a legacy

Correct Answer: By receiving a share in a legacy
Candidate Answer: By receiving a share in a legacy

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Until he was ten, young Alexander Fleming attended the nearby Loudoun Moor School. He was then transferred to Darvel School which he attended with his brothers.
Alexander learned a good deal about nature during that four mile downbhill hike to school and the four mile uphill return trip. He was a quick student and at twelve, the
age limit prescribed for Darvel school, he was sent to Kilmarmock Academy. Two years later he joined his brothers John and Robert at the home of his elder brother
Thomas, who was to become a successful occultist in London. However, the economic success of the family was yet to be and Alexander was forced to leave school
for economic reasons. When he was sixteen, he obtained a job in a shipping company. Good fortune, however, was on his side and on the side of humanity. In 1901,
he received a share in a legacy which made it possible for him to return to school. He decided to study medicine.

Alexander left school

Options:

1) To study economics

2) To work with his brother
3) To study medicine

4) Due to financial problems

Correct Answer: Due to financial problems
Candidate Answer: Due to financial problems
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